Name Date Class

C o B
@ SKILL 11: Area of Compound Shapes

Not all geometric figures are shapes with which you are familiar.
Some of them, however, can be divided into familiar shapes.

|
; .Example hhhhh
Find the area of the figure. 7ft
6 ft
10 ft
i This shape can be divided into a triangle and a rectangle. A J
: 4t
i Find the height of the triangle. Subtract the iength 10 &
: of the known portion from the length of the opposite 21t
i side:10 -6 = 4.
Find the base of the triangle. Subtract the side of the
o~ i rectangle from the base of the figure: 9 — 7 = 2.
. Area of a triangle = %(b X h) Area of arectangle = b X h
O = 22 X 4) =7 %10
: = 1(8) = 70 ft2
: = 4 ft?
! Total area = area of triangle + area of rectangle
: =4+ 70
=74
! The total area is 74 ft2,
: Guided Practice
Find the area of the figure shown.
1. Divide the figure into two squares.

g 2. Find the length of a side of the large square. 7m =

]

§ 3. Find the length of a side of the small square. -

s 4. Find the area of the large square. om am

» ! 5. Find the area of the small square.
6. Find the total area. + = ]
. Im

Section B: Perimeter and Area Measurement 23

B T T P SN MR eeterm T il datasea®iidiaT AT 8 CnT Lttt cee s hBaternabi e 4 e b keaeetee dbemtache 0 ot P ot $Li L s st as st e 8 ise s dew. s eee b . EITT



Name Date Class
SKILL 11: Practice
Find the area of each figure.
1. 6t 18+# 2. 13 km 3. 19yd
26 n 9 km
39 ft 17 km 23 yo 30yd
20 km
29 ft 37 yd
4, 12 cm 5. — ______ 13in. 6.
3 cm 7 in-
19in. -
9cm 4cm|2cm 13in.
20in,
7cm
7. 8. 21 mi 9. i
1.6cm Ie mi 5:;1 ft
1.8cm : .
1.5cm 1.5¢cm 16 mi 16 mi 4ft
3.0cm 7 38 mi 12t
Solve.

10. The flag of Switzerland features a white cross

on a red background.

a. Each of the 12 sides of the cross has length

15 cm. Find the area of the white cross.

b. The flag has dimensions 60 cm by 60 cm.
Find the area of the red region.

11. What is the area 8m H
of the figure? ~

12m 6m

Skilt 11
A 72 m? C 120 m?
B 102 m? D 144 m?

24 Measurement

F 1,800 m
G 105m

12. The area of a rectangle is 120 m?.
The tength of the rectangle is
16 m. What is the width?

Skifl 8
H8m
J 7m
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